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AQA A2 Chemistry 

12 Redox equilibria

1
(a)
An electron donor [1]

(b)
Cr(s) [1]; the right-hand species which has the most negative electrode potential [1]

(c)
Eo for O3(g) + 2H+(aq) + 2e− ( O2(g) + H2O(l) is more positive [1] than 
that for Cr2+(aq) + 2e− ( Cr(s) [1]


O3(g) + 2H+(aq) + Cr(s) ( Cr2+(aq) + O2(g) + H2O(l) [1]

(d)
(i)
Cr(s) | Cr2+(aq) || AgCl(s) | [Ag(s) + Cl−(aq)] [1]


(ii)
Eo right side – Eo left side = +0.22 − (−0.91) = +1.13 V [1]


(iii)
The reaction is non-reversible [1]
2
(a)
Eo rhs – Eo lhs = Eocell


1.69 − x = 2.15; x = 1.69 − 2.15 = −0.46 V [1]

(b)
2PbSO4(s) + 2H2O(l) ( Pb(s) + PbO2(s) + 2HSO4−(aq) + 2H+(aq) [1] for all species correct; [1] for balancing
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